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Experimental Problems. Language: Arabic
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y-coordinate of the electron beam in cm:

d}?;,,ﬂg; rs) L;TC,J»;T) .returnL&b\{;QOJ_zoOﬂ&J ‘.}’j

U N gl sl e Y

Invalid entry.
ol g D o o Bl e ey
20 el sl o8, Y1 Jles)

Electron beam fired with parameters (x, y, V) =
“f P\FSRIY f:iﬂ W& kel r}l‘,ﬂ)

Electron detected at (x, y) =
s b SO alall e 00 80N 46 de) gl B o
A i S sl N1 13 22L2L 0, 50

Electron not detected...
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Beam accelerating voltage in V:
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x-coordinate of the electron beam in cm:
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Acceleration is out of range.
Duration is out of range.
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Sampling time is out of range.
Number of repeat times is out of range.
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Cannot repeat actions inside another repeat.
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Cannot end repeat outside repeat.
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Enter name for output file (e.g. “results”). You
should use Latin letters and numbers because some spe-

cial characters are not allowed.

O el L el £ .return L £l sl
B AW 5y B L Galll e 5 (32 YY) W)
ab C‘b gl A s S 2l waL. daxt Cae 3 L el 3
U

:L;”\éujjs\ﬁu_ﬂ AR

Begin experiment.
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Experiment ended successfully.
The box hit the ceiling. Experiment ended.
The box hit the floor. Experiment ended.
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Masses and/or the box collided. Experiment

ended.
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